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7. Let ~ be tbe group of integers under addition and let H be the subgroup of GO

'---" even mtegers. Are the groups Z and H isomorphic? Explain your answer.
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8. Are the groups ZIS and ~ x Zs isomorphic? (The operation in each of the
groups ZIS , Z:3, and Zs is addition.) Explain your answer.

a;i) ZL3~ 745 I s q- crcfte. 1NYr/ rJt [)'r~ IS-, We flux0

-ttu-Of el--t7t6L ref; c 1 (;°trl c1 Vt--~ I, " ~ js[)~i)tl'~ 'c 1..:> 2{/ S""b

C 7l.e q I-j)vzl 713 « ~ ~ (fe'7Qt-r{-(t:.J b) U( f).. We Sc.(? ~~
Ie>(ltt) ==-C lie!)) cv~ (; (~f) ~ (0,",).. So (4(G J=- ti (1,0) rb {Od J

-= I{)q n d f {;b (I, d

-=-@Cl+6b)(I,c),)

~

,


